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10.

INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as
WIONng answer.

Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

If there is any sort of ambiguity/mistake either of printing or
factual nature, then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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Do not open this Test Booklet until vou are asked to do so.
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1. Degree of effort being made by the sportsman 1. <™ & S RaARST g7 {6y o @ WA=
while doing an exercise is called - P AT HEAT! & —
(1) load volume (1) ¥R udH
{(2) load intensity (2) ¥R daar
(3) density of load (3) 4R & T
(4) frequency of load @) 9R P Mg
2. Two statements are given — 2. & oo fRg g § —
StatementI: Physical Education teacher HE I: INIRS Rrr R o wW_ie
should feel responsible for fa=mell & =oRy d afa
building up character and fasrg @ faw SoRard I
personality of each of the R TR
student. AR
Statement II: Physical Education teacher L . R Rew
frerfRi @ aree
should prepare students for
shouldering social SRaifae Som % forg
responsibility. T AT |
Choose the correct option - el [dee ghg —
(1) Only statement I is correct 1) wad B I TE B
(2) Oaly statement Il is correct (2 @aw HoF 0 & &
(3) Both statements are correct (3) <N BT T §
(4) Both statements are incorrect @) <= B Told &
3. Reactive method is also called - 3. wlafsaes ffr e & —
(1) Depth Jumping 1) < ST
(2) Isotonic method 2 RN Al
(3) Circuit Training 3) Tithg wlkdmor
(4) Dynamic Concentric method @ irede 3 A
4. 'Which vein drains blood from liver? 4. TPHd ¥ IA G BRT W @1 e (§9)
PRI 87
(1) Hepatic 1) =Rw
(2) Renal ) e
(3) Gastric 3 Rew
(4) Iac @ R
5. Based on which Committee recommendations, 5. fbg W @ s w® w=hiw fheww
National Fitness Corps was formed? DI B WG 587
(1) Kunzru Committee Q) BT ARy
(2) Tarachand Committee (2) dRrERE 9l
(3) Kaul Kapoor Committee (3) P R TR
(4) Yashpal Committee @) T AR
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6. Supervision is an essential aspect of 6. TidwE, WNIREG Rew AR WoHg I yEE
management in Physical Education and Sports ST (@ SI+arl uge ek © —
with -
(1) asingle motive L) THe PG
(2) multifarious function ) fafdw r
(3) alimited objective (3) ¥ifa
(4) varied policies @ fafae <Hiferi
7.  Super compensation means - 7. IR FHyaeE &7 o gar & —
(1) second wind ) feims ag
(2) fatigue 2 oBM
(3) adaptation to load (3) WK B e
(4) oxygen debt (@) i For
8. Three statements are given — 8. d e RuiwE -
Statement-I A good warm up prepares FHUT-1  UH ST dMe §ed ad
the exerciser for efficient qifewlell (4 GUHEE & U@l
and safe functioning of the W RE HH @ fav
heart, blood vessels and RS B IR Bl T
lungs. ‘ BYF-II TP AT qrHer ArauRE
Statement - II 3 good v&;ar? up 1reduccc1 A @ ed @ WEr B Bn
e amount of m an
joint soreness. o e fl § idary fre
Statement- Il An acceptable warm-up PATI TP . 10-15
would begin with 10-15 & fdae & wEm
minutes stretching W BN SR S A
followed by 10-15 minutes 10-15 fe @1 S=a e
high intensity activity. areft Tfafafey sl
Choose the correct option - el faees givg —
(1) All three statements are correct O 9 9N B HE e
(2) Only statement I and IT are correct (2) oad B9 1T N9 €
(3) Only statement II and III are correct (3) @gd HoF 0 9 OI 98 §
(4) Only statement I and 1T are correct 4) o eu_ 19 00 98I &
9. Two statements are given — 9. T HYA YT -
StatementI:  Growth is a product of the FT 1: gl sTgaikimar iR gmmEser
interaction both heredity & 2 B WEREPAT B Sde
environment. 8
Statement IT : OGIE;‘TIth is quantitative FUT I afy et IR SR
Choose the correct option - wel fawed g -
(1) Only statement I is correct (1) S FU= 1 WEI ©
(2) Only statement IT is correct 2) @9 HUE 0 WS &
(3) . Both staternents are incorrect (3) Tl P TEd &
(4) Both statements are correct @ <N U gE E
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10. Intramural program creates in students the 10. aTfdeneia wrfwq BEl 4 goT WA

sense of - g -

(a) mass participation (2) WrFe® WRGRT &

(b) selfishness (b) weluar a1

{c) enemity (© AT &

(d) maximum involvement @ RFa iR B

Find the correct combination - T ST fev—

(1) ab @ ab N

2) b,d @ b.d

3) ad @) ad

4) b,c @ b,c

11. The social process by which peopleinteractand 11, I8 MG Uihar s gRT @nT e
behave in a group environment is called — gt § Siafpa ik @gErR W OE,
] HEelldl § —

(1) group dynamics (1) T e

(2) interaction ;

(3) socialization 2)

(4) tradition 3) ST

@4 T===
12. Which register is not necessary for 12. WNIR® RET @ v @& foay Pier
administration of Physical Education? IRER 3AGeYF 8] &7

(1) Register of intramural competition (1) TREET WRERET o7 foex

(2) Register of Physical measurement (2) IRRE T BT AONC

(3) Stock register Q) wie deR

(4) Vehicle register (@) aET PR

13. Two statements are given — 13. I FFERTWE -

Statement I Coupling ability is the w1 g AT Th E‘:\‘TQ‘ D
ability to coordinate body NN P I B TR 3
part movement with one T 9 O 2
another. -

Statement II Orientation ability is the Rl A SR
ability to achieve a high TR RO o R D S
level of fine tuning or @ T & S W @
harmony of individual e T o e Gl
movement phases and WS S & IrTar 2 B
body part movement.

Choose the correct option - ﬂ(_i Eﬁ:;?;i; o E

(1) Both the statements are correct
(2) Only statement I is correct (2) @ad BUT 1WA B

(3) Only statement II is correct 3 W T I §
(4) Both the statements are incorrect @) < TFE e TE g
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14. 1In darkness an individual can easily touch the 14, 3R # T& «fdT A SN 4 AT ¥
nose by his finger, which sense helps in it? TP Bl G THAT 5, DI I FERIA Bl
87
(1) Kinesthetic sense @) fHar 9w
(2) Visual sense ) Ty
(3) Vestibular apparatus (3) SUBICH STBI
(4) Acoustic sense 4) =@ 9y
15. Rehabilitation is made intervention atlevel of - 15. 7919 & WK TR SUAR B BT TUH § —
(1) Primary prevention @) wefe R
(2) Secondary prevention ) fedos fare
(3) Territory prevention (3) TS far
(4). All options are wrong @ T S o §
16. Paralympics games were earlier known as — 16. Rifued W Ugel 59 W W WM WK
o7
(1) Panhellenic games 1) TealNE W
(2) Disabled games 2 Ruvas |
(3) Stoke Mandeville games (3) WP R g
(4) Spartakiad @) weifEaE
17. “Physical Education should aim at making the 17. “IRIR®G ¥ET & e To & ANING,
child physically, mentally and emotionally fit HFRIE 9 GIOcAs w8 9 WO 9917 U9
and also to develop in him personal and social Ffead 9 SMEoIE Tﬁ CIRCEIR GGG
qualities which will help to live happily with BT 9Iey, S a;\qq\f o T o T i
others and builds a good citizen.” Who states TERIGT U9 318 ARG &7 T o 9 1~
this? . . T frer e 27
(1) Ministry of Education and National 1) TERE REr sk TReE ® R
Planning for Physical Education and . .
Recreation v wdf <TSCrr T AT
(2) Central Advisory Board of Physical 2 TNR® RET R TR B sl
Education & Recreation TR 9IS
(3) Charles A. Bucher
4) The National Plan of Physical @) o T IH
Education @ RS fRen @ TS Ao
18. What is technique training percentage of 18. Teil Wall # Soa URMEYT HT AH-Id TIRMETT
advanced training in team games? wioeg @& 27
1) 55% Q) 55%
2) 45% 2) 45%
(3) 40% 3 40%
@ 25% @ 25%
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19. 'Which one is not related to Principle of Sports  19.

Training?
(I) Principle of Cyclicity
(2) Principle of Planned and Systematic
Training
(3) Principle of Relaxation

(4) Principle of Progression of Load

20. “Physical education is a Fundamental Right of  20.
every individual.” It can be seen in the Charter
of -
1) UNES.CO.

) MHRD.
(3) WHO.

@) S.NIPES.

21. How many periods comes under periodization? 21.

@ o
@ 5
@ 3
@ 8

22. By whom and when was the Harvard step test 22,

created?
(1) Thomas, 1940
(2) Brouha, 1943
(3) Herre, 1948
(4) Brunt, 1943

23. The oldest School of Philosophy in Physical 23.

Education is -
(1) Idealism
(2) Pragmatism
(3) Naturalism
(4) Realism

o= J & i g w1 Rigig w6

37

1) T & Rigia

@ A @ wggRem uREmr &
foagia

B Tulrlew @1 Rl

4) YR o FiRiadr & g

e e we wfl @ A

IRFFR T, I8 5w arx ¥ Squd B7

(1) YIECS =¥ (@, dicihad
Tus Teree SifTTEeeE

(2) =G g [qare Jared

(3) fa=g w@reg Hieq

@) WERE BR e SRICge A%
Bfyepe Tgeee (vs Wicy

Al BNl ® Aala o Bt 8 &7

1)

@

3

@

e WU Wy 5o g 9 %9 AT

foar e

(1) eifq9, 1940

(2) e, 1943

(3) T, 1948

@ g<T.1943

INIRE RET <2 & uEHag e

8

(1) =Sz

2 vEEEE

@) wplmas

@ AR

00 W L O
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24. Two statements are given — 24. < ®yq f{y ¢ F - :
Statement 1 A-band contains the FEAI A—SvS § AR O ST B 1
Myosin filament. PO -3s ¥ dae ghed ag S
Statement II I-band contains only
Actin filament. 8l
Choose the correct option - e FUT gAY —~
(1) Statement I is correct (1) & FF 1T &
(2) Statement II is correct (2) bad HF NS &
(3) Both the statements are correct (3) <HFI B weEl
(4) Both the statements are incorrect 4 TN FUF Tad §
25. During the organisation of Athletic Meet, what 25. Talfe® Hic & MMIeH & TN, ReEx 3t
is the role of recorder? g7 e B8Rl 37
(1) To maintain discipline (1) ST §1¢ @
(2) To announce the result (2) URuTE P HIEIT FHET
(3) Maintain results and records (3) R T sifterEl BT EvEE
(4) Scoring @) e oY
26. For effective administration the Physical 26. W9 TeE & fow @ NIRRT Rrw @
Education teacher must possess - U BT TR —
(1) high qualification (1) Sz Argar
(2) good personality (2) arsT kg
(3) technical knowledge and skill (B) TEEE TN W B
(4) teaching ability only @) e e eEar
27. Match the following — 27. f=faRea o gaa Bty —
(D Subscapularis (i) Bentover O wE@YARE (@ 9T AW
lateral raises e Yoy
(@ Rectus (ii) Knee extension am Y™ G) N TEeEE
Abdominis TR
(II) Rectus (iii) Dumbbell D Yeew (i) s
Femoris mtcr?al R e
. . rotzftlon RN
awv) POStCl:lOI‘ (iv) Twists V) e et (i) EﬁE
Deltoid
I I m 1Iv I 1} m A"
@ @) av) @ O @ @@ @) @ @
@ O av) @) @ @ O G @ @
@ vy © @ 3§ @ v @O @ b
@ @ @) vy @ G G v O
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28. Extramural programs creates a feeling of 28. SFIENERIT FRFHA BRI H oerecvrersensonn

........................ in the students. W UeT SR B

(1) achievement (1) SuaeT &

@) enjoyment @ o= H

(3) humour (B) TR =

(4) involvement @ i &

29. Transverse friction massage was first 29. SFURI TNU Hiferr e IR fha® gWI
demonstrated by - yeidia & TE? )

(1) Pehr Henrik Ling 1) U= 3RS R

(2) Dr. Johann Georg Mezger (2) <t WieE Sl 3R

(3) Dr. James Cyriax (3) <. g aERved

(4) Dr. George Taylor @ <f. St er

30. Two statements are given — 30. © ®H Ry g € -

Statement-I Advance tactical -1 STd USYE e ¥ S
knowledge is found in faqel glRerer g o B 1
high performance training. U1 HerE uREE ¥ Rt wwg

Statement-II. Development of special Treranelt 37 RN 9T STer
coordinative abilities is 3
found in basic training.

Choose the correct option - e T ﬂﬁq B

(1) Both the statements are correct (1) < e e €

(2) Only statement I is correct (2) Fa T I T

(3) Only statement II is correct (3) IA P UHH §

(4) Both the statements are incorrect @) < P T ¥

31. What was the term of Pierre de Coubertinasa 31, STS.3 L & 3nue & w9 ¥ R © ®RiET
President of the IOC? FT FEDTA AT IET?

(1) 1896-1926 (1) 1896-1926

(2) 1896-1925 (2) 1896-1925

(3) 1897-1928 (3) 1897-1928

(4) 1898-1928 (4) 18981928

32. Laws of Learning by Thorndike is - 32. oFSET & U ® e € —

(1) Law of Readiness (1) oo & e

(2) Law of Exercise (2) < & oM

(3) Law of Effect (3) W &1

(4) All of the above @) IO T
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33.

34.

35.

36.

400 meter sprint is an example of which type of  33.
endurance?

(1) Short time endurance

(2) Medium time endurance

(3) Long time endurance

(4) Speed endurance

Two statements are given - 34.
StatementI: Biceps curl is an example of
class 3 lever.
Statement I : Triceps extension is an
example of class 2 lever.
Choose the correct option -
(1) Only statement II is correct
(2) Oaly statement I is correct
(3) Both the statements are correct
(4) Both the statements are incorrect

In which type of competitions pre-planned and  35.
systematic training cycle are used to achieve
peak performance?

(1) Build up competition

(2) Main competition

(3) Competition frequency

(4) None of them

Who acts as a Spokesman of the Intramural  36.
Committee?

400 Hlex @ oW ds 9 R @
Tl BT 9aIeRTl &7

(1) GEAPpiel TE-eleal

(2) FHSCI FeTRitedr

(3) QTR AETRiexr

@) = GERie

T woA fRg g & —

AL AN Ba gud AU Slad

B TP S & |

FUT I TR Yodaesd fgd oo
TIeid BT TP Sae o |
& BAT AT —

(1) gol B I T8 &

2 oad B 1 EE®

(3) T HUF T &

@ <=l weE I §

e yer @ yEifaei 8g Rex wesib

@1 Wit & forg od T vd soag gfF

Ighi BT SUANT BT &7

@) ¥ wfefirag

() = gfoafard

(3) Wi smgRe

@ SR T Y P TE |

IR AR & Yawm @ WU ¥ BN ‘

BRI BT 87 ;
\

(1) Chairman (1) eI -
(2) Treasurer (2) DI
(4) Secretary @ k@
37. Full form of EPOC is - 37. EPOC &T Q9 W% & —
(1) Extra Post Exercise Oxygen D) TS G TFaRaIsy Iaaer
Consumption B
(2) Excess Post Exercise Oxygen (2 TRY IR TrRgRy adie
Consumption W
(3) Extra Pre-enzyme Organic @) e N—uEd RS
Concentration ST '
(4) Electrochemical Promotion of @) saTE-af TR ST
Organic Consumption U
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38. How many National Centres of Excellence are  38. HRAT W WG §NT fbo Spedl &
running by Sports. Authority of India? TS &5 Fag o @ 87
a1 28 1 28
@ 25 2 25
3 23 3 23
@ 21 @ 21
39. Which theory is not considered as Theory of 39. {&%® RiEid @ Ua & gl @ oy § &
Play? ST SR 87
(1) Experience Theory 1) e o1 gl
(2) Surplus Energy Theory () sifaRea sut o Rigla
(3) Anticipatory Theory 3) qErgEe @ Regia
(4) Playis Life Theory @) T & e & g
40. Which one of the following is not a quality of 40. = # ¥ ®i=—1 & Foias &1 o7 &
official? 87
(1) Minute observation (1) &A g
(2) Knowledge of rules 2) f=E o 5=
(3) Proper uniform () SUgE JzyE
(4) Excited and flexible @) ST 3R e
41, Two statements are given — 41. < o Ry g E -
Statement-1 Talent identification is a FA-1  HiowT @ qﬁ‘!ﬁﬂ?ﬁ wishan
future oriented process. 21
Statement-I.  Sports talent is a product P11 W ufewr egaifear sl
of heredity and qIATEReT T SIS 8el 5
environment. & T gﬁm _
Choose the correct option - (1) oad B 198 &
(1) Only statement I is correct @) Saa T NTE 2
(2) Only statement IT is correct @) < P wE E
(3) Both statements are correct @ < o o ¥
(4) Both statements are incorrect
42. Long term sports training process involves 42. sl s@afy 3 ulwemr ufvar § FwfaRed
following stages — TOT B © —
(a) Basic training (2) g TflRemor
(b) Training for high performance () <= WEIH @ g wfderor
(c) Training for maintaining performance (¢) TSI P W & g-g SOy
(@ Advancefl training (d) STa SRE
Arrange in proper sequential phase - TR =T P AR HEEE HRT —
O @ @ G 6 W © O O
@ O @ @ @ @6 @ © @
G @ @ 6 @ ® 6@ @ ® ©
@We 6 6 O @O 6 & O
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43. The inner layer of the heart is called - 43. TT @ A[E UNd B Pel Wl § —
(1) Cardiovascular 1) TR
(2) Pericardium 2 TefsEm
(3) Myocardium 3 =EEEE
(4) Endocarditis . @) v
44. Transition period aims at - 44, GHEYl FHIA BT Sl ©§ —
(1) recovery (1) efgfs
(2) recreation (2) FERSH
(3) super compensation () YN HFHIA
(4) stabilization of performance @) vee 91 ReRar
45. Three statements are given — 45, &9 P Ry g § —
Statement-1  There are four Vice B ARINY. PRGN Avsd A
Presidents in IOC T SUETE B &
Executive Board.
Statement- II  There are ten other FAHI ARIIH. PREN FvSd H
members in IOC T 9 e BId ©
Executive Board. F-II MY, HUGR  qvsd
Statement - IIT IOC Excj:cutlve Board is 1920 % 7T T T |
founded in 1920.
Choose the correct option - W fawen g -
(1) All three statement are correct () &R A e e §
(2) Only statement I is correct () F9a FE W&
(3) Oaly statement IT and IIT are correct (3) Sad ®u= I 9 I 92T &
(4) Only statement I and II are correct 4 DaaFEITIEEH T
46. The main part of budget in physical education- 46. ¥NIR® REM F oic & YHE AN B4 § —
(1) income 1)y ™
(2) expenditure 2 =3
(3) last year savings (3) foa of & 991 99
(4) Both (1) and (2) @ (1)@ ) S
47. Fartlek training was first adopted in — 47. Wcod R Gowe Bue gN S fieR
fwr wrar or?
(1) USA (1) FuEu
(2) England (2) =wve
(3) Sweden 3) e
@ Brazl @ s
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48.

49,

50.

Which statement is not correct for operating 48.
budget?
(1) Remit all daily collections to the bank
immediately.
(2) Review the financial position from
time to time.
(3) No need to obtain written sanction
before spending money.
(4) Follow the standard procedure of
making purchases.
Among the following what is the Principle of 49,
Talent identification?
(1) Progression of Load
(2) Principle of Cyclicity
(3) Principle of ensuring results
(4) Less trainable factors should be given
more weightage
Which one of the following is the performance  50.
symptom of overload?
(1) Loss of weight
(2) Decreased contact with coach
(3) Lossofsleep
(4) Decrease in the ability to differentiate

Tl gREie & fay S w98 T8l

87

1) i AFF dus g 95 3 Ao

2) o< Refa o Ta—g o a9
CZGI|

(@) T = e 9 @ fofea el
W B B Pig INTLADAT T8l |

@) HI FE TG GG IRQAG BT
SERTT BT |

= 3 9 e E &1 Rigiad sear 87

(1) ¥R @& WEIfRieRT

@) atFar o Rgia

(3) uRvmm YrRamar &1 Rigia

4) 9 UREY 9rg SRS Bl IARE

TEcg foar ST =@niey
e F 9 B AR B gauE e 87

1) T A frEe
@) uRmEw & 9 SIS J BH
3) =i &I 3¥E
(4) YUTHIT HI JIGAr F FH

51. Two statements are given — 5. YA feg v € —
Statement I Acceleration speed is the w1 <G giel ANEad 9 IR
bili t intain
eyl Tl & oy sffwaw e B T
maximum speed for
maximum possible @& o grgar s B
duration. U RRR e e
Statement 1T Movement speed is the
ability to do a single TE R B oFE #
movement in minimum of Argar et &
time.
Choose the correct option - e HU g -
(1) Statement I is correct @ Bl B I8 &
(2) Statement IT is correct ¥) W T 98 &
(3) Both statements are correct @) <F B ?ﬁ’f g
(4) Both statements are incorrect @ < B T
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52. Match the following — 52, fo=ferRaa & e —

(A) Technical (1)  To provide A) <fFEwa 1) EFET @
Committee shifting ity giEr  uem
facilities BT
(B) Finance (2) Toresolvethe ®) f aff @ fae
Committee dispute ' o
1 © Transp.ort (3) Todeal with © @) @ w wE
Committee money &
. afafe %7 B
expenditure
{ (©) Publicity (4)  Advertise the @) WARIRR (4) SR @
Committee event wfafd fasmo wR
Code - B —
A B C D A B C D
Mm@ @ O @ nm e & O @
3 @ O @ @ 6 @ O @
A2 B @ @ @B e & & O
@@ »H & GO @ @@ o O @
53. Setting standards for any performance is the 53. &€l i ydeN & foly Ame FEiRa &=
action to be done in phase of Management - y§ue & O ¥ fhar wM aren B § —
(1) leading 1 W=
(2) controlling ) =
(3) planning 3 e
(4) organizing 4) SmSH
54. Competition is simply - 54. wfeRhfrar AR § —
(1) alearning of social process (1) & G S @) EIee gishar
(2) a productive strategy for character (2 =Rz frfor @ fore o R
development 3) ofed & E,_ﬂ?&' 3 ﬁ.’rq. ATE
(3) essential for growth of individual
Ly (4) essential for human development @ =t faw % oy s
55. Which one is mot the quality of Physical 55. {1 % & @ivrar eiR® R R &1 o
Education teacher? Tof &7
. (1) Upright character and high intellect (1) <781 IRA 9 9= gigaar
' (2) Ethically inferior 2 Afee g 9§
' (3) Commitment to the profession @) T IR ey
% (4) Good physique (4) 5T IR BT
56. Which testing may be performed by assessing 56, R=R @il 97 ® 16 & 7R 4 S@=
. the muscle tension generated throughout a AURE & TG BT SHT HRe DIl
! range of motion at a constant angular velocity? ueor fbar =i 9aar 27
(1) Isotonic testing () EEEitE e
(2) Isometric testing Q) EIRRE ThET
(3) Isokinetic testing @) SEOEERE T
(@ Cardiovascular testing @) AR TR
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57. Theideal B.M.I. for adults sheuld be — 57.
1) 185t024.9
(2) 16510228
3) 250t0299

4 20.5t0279

58. Three statements are given — 58.
Statement-I Sagittal, frontal and
horizontal plane are called
cardinal plane.
Transverse plane divides
the body into superior and
inferior position.
The sagittal which divides
the body into equal left and
right halves called para
sagittal.
Choose the correct option -
(1) All three statements are correct
(2) Only statement II is correct
(3) Only statement I is correct
(4) Only statements I and IT are correct
59. Three statements are given — 59.
StatementI:  Lordotic  posture  is
characterized by an
increase in the
lumbosacral angle.
Scoliosis is a sagittal plane
deformity.
Lateral curvature in the
spine is called scoliosis.
Choose the correct option -
(1) All the statements are correct
(2) Only statement IT and IIT are correct.
(3) Only statement I and TIT are correct
(4) Only statement I and II are correct

Statement-I1

Statement-TIT

Statement I1 :

Statement I11 :

60. Who said it that, “Adolescence is an age of 60.
great stress & strain and storm & strife”?

(1) Lord Kames

(2) G. Stanley Hall

(3) E.L.Thorndike

(4) Sigmund Freud

TF TOF @fdg $ 3Ney  SIgHanE.
(B.M.L) BT =Ry —

(1) 1859 249

(2 1659 22.8

3) 25.0% 299

4 2059279

< B fog Y ® -

HAT—I  AvEcd, Thed g dfteig ad
PIFEA Tel PEAT B |

T~ SR Od MR DI S T )
ey AT & fawiirg e &1

P01 95 JOscH ad S WO B
W I8 9 - HET H
faforg e 8, I Sesed
HEART B |

el e gihg —

@) Tft 9F e T
(2) oo BT I &
(3) oo o IHE §
4) ®ad U I91 G2 &

A P Ry g € -

FUTI: JAUFET AN P Bl
By oo § g & 5w
R far Sar §1

T I: UrEgGerd U6 densced ad
P fowuar 21

Hee II[: HEaos A URd dal URd
Geoldl HEAR 2 |

e Fe Y — “

) T TS

2 DaaFEIIT O &

(3 Paad FUII1T I 1 &

@ SIAPITITOEEHE |
I5 f wur % “freiRaer sga a9 9
Re=rg ik w7 dend &0 arawen §7

@ diE v

(2) S ' gd

@) Eya. grieE®

@) s B
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61. Who is not related to pragmatism?

61.

B TS o HeRR T8 87

(1) William James W fafermw =
(2) 1.J.Rousseau (2) <9 w6
(3) Charles Sanders Peirce Q) T Tred foad
(4) John Dewey @ i S
62. Match the following — 62. TwfaRed @1 gia Fifm —
(D  Relaxation ()  Herbert (D RffEe™ @@ e O=K
Theory Spencer i
(I) Recapitulation (i) G.P.W. @ gTeEE @) ol 9 S,
Theory Patrick fagia ij=5:2
() Anticipatory  (ifi) Karl Groos () gafgwFa (i) el g
Theory Rigia '
(IV) Surplus energy (iv)  G. Stanley av) «fiRew st Gv) =N 'O
Theory Hall %! Rrgia Biel
I o m I\Y I I 111 v
n @ G ) o 1 @ Gv) G @
2 @) v @ O @ @) av) G @
@ @) G) @ @ @ @) @) G @
@ @ @ G O @ () 3G @) @
63. Which component is related to health related 63. SiFel e w@reed Hoefl wIR® e 4
physical fitness? HeET &7
(1) Speed 1) =
(2) Agility (2) =Uerm
() Flexibility (3) <A
(4) Coordination (4) T
64. Through warm up, the core temperature of the 64. dff aM & N IR &1 SR TWHN 1°C
body increases by 1°C than basal metabolic dodl &, a9 Sl AeEifeld NE 9adl § —
rate is increased by -
(1) 10% 1) 10%
2 12% 2 12%
3) 14% 3 14%
@ 18% @ 18%
65. The fastest period of growth in Human beings  65. ¥<9 # 999 dig gfg &1l § —
is-
(1) Tnfancy 1) ey
(2) Childhood (2) SreurawRn
(3) Adolescence (3) feaRmEwRi
(d) Puberty @ JTRT IFERRn
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66.

67.

68.

69.

70.

71.

What is the effect of massage on body parts?

(1) Increase in skin temperature

(2) Bone strength

(3) Decreased accumulation of fatty tissue
(4) Both (1) and (3)

Which is not an important factor to be
considered for talent identification?

(1) Age

(2) Socio-economical condition

(3) Performance and training state

(4) Peer group

Advantages of inter-school sports are —
(a Development of proficiency in skills
(b) Over emphasis on winning
(c) Less emphasis on mass participation
(d) Development of high level of physical
fitness
Find the correct combination -
1) ab
(2) b,c
3 ad
4 b,d
The total amount of work done in a training is-

(1) intensity of load
(2) frequency of load
(3) volume of load
(4) degree of load

The smallest contractile unit of skeletal muscle
is -

(1) fascicle

(2) muscle fiber

(3) endomysium

(4) perimysium

Which Emperor banned the ancient Olympics
games?

(1) Nero

(2) Theodosius IT

(3) Theodosius I

(4) King Edward

66.

67.

68.

69.

70.

71.

Hforer & ITRIRG N W FH UeR &1
YA ISl 57

(1) &S avEIE ¥ g

(2) =E A o

(3) I HAP F GUB FHI

@ (HTE 3)EF

T UM @ Y P AEwYE SRS
el AFT o 27

(1) oy

(2) < snfdfe Refu

(3) s T4 Wik g

(@) IS G
e gfaafar & we § —
(@) PIEI WEKRT BT AN

) <o W IR SR

(c) UFfE® 9rieRl W %9 WK

(d) =@ TNIRG T @I fae™

e ST ey

D ab

2 b,c

@) ad

@4 b,d

uierr § WU S B A A FEAl
&

1) ¥R W dEgar

(2) ¥R B IRSERAI

() 9R % 9=

@ = o fsh

P UE B e B YgEadid §ok
B & —

) B

2) = dg

(3) vrSMEREH

@ ResReEs

o Toe gN A sidE @l W
TfEy T e

@ R

(2 e o

3 PRI

@ T oS
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72. 'The extra oxygen that must be used after a 72.
period of strenuous exercise is called -
(1) second wind
(2) oxygendebt
(3) anaerobic capacity
(4) fatigue

73. Two statements are given — 73.
Statement-1 The best way to
accomplish cool down is
to slowly reduce the
intensity of the endurance

activity.
Statement-IT Stopping abruptly after an
endurance exercise,

catecholamine level might
be elevated during the
immediate Tecovery
period.
Choose the correct option -

(1) Only statement I is correct

(2) Only statéement II is correct

(3) Both statements are correct

(4) Both statements are incorrect

74. The total number of phalanges bones in human  74.
body are -
(1) 28 bones
(2) 27 bones
(3) 30bones
(4) 34 bones

75. The longest period of Periodization is - 75.
(1) preparatory period
(2) competition peried
(3) transitional period
@) functional period

76. Which of the following is a characteristic of 76.
high performance training?
(1) Very high training load
(2) More use of special exercise
(3) Less competition
(4) No periodization

FfaRe fiwiom 9 Bfod @m @1 s e
D T SYIRT B W A1RY, HEddl o
@) fe<diiae oy

) SIS =0

(3) ST &

@ U=

a1 poe fer 7T § —

FoE-I OB B QoA Bl
K310 S R B T
Tfafafer @ Jaar o1 &9 FE
gl

FU-I  OEEiddl 9« ANE
YT SAFE ©F WM W

goa gyl T & dRE
BeDHIHET BT WX Sl o
GEGIRY

W& A ghg —

(1) ddd PN [FE &

(2) dod o OED &

(3 < P EE 3§

@ T P HEl e 8

Mg TR § yeio sl @1 o den

B ® -

(1) 28sfea

(2 27%fE

) 30w

@) 34

RARYIEESTM &1 9™ T 3| Bid § —

(1) SUYHAHD Biel

(2) uREfar s

(3) SHspifa HIa

4) SEEP PIA

e 3 B O ST ueES uf¥iEr @

oy 87

(1) vgd 9= URET 4R

(2 ffte = o afte ST

(3) & uiEmifed

(4) ois AafRIBeNTal ol
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77. Scoliosis is a postural deformity related to — 717.

@
@
3
)

Heart

Lungs

Legs
Vertebral column

78. The most important quality of an effective 78.
teacher is -

@®
2
@
)

a strict disciplinarian

a good motivator

inadequate knowledge of subject
good rapport with students

79. Which of the following committee was 79.
responsible for the creation of ‘National Fitness
Corps’?

M
)
@)
@

Kaul-Kapoor Committee
Ad-hoc Enquiry Committee
University Grants Commission
Kunzru committee

80. Which one of the following pair is not correctly ~ 80.
matched?

@
@
@)
@

Pythian games — 586 BC

Isthmian games — 580 BC
Ancient Olympic games — 776 BC
Nemean games — 573 BC

81. Lordosis is also called as - 81.

@)
2
&)
@

back curve
round back
hollow back
lateral back

82. Macro cycleis the - 82.

®»
@
@)
@

smallest cycle of training
medium duration of training
largest cycle of training
None of the above

83. What is the other name of Speed Play Method?  83.

@) #vae
T el Rere &1 He TEeEyE IO § —

(1) TS 9% JqgEs

(2) 3T S

3) v o saia o=

4) OE® Y AW Gy

e feaw B & AR & fore =
4 Gy StRer 87

(1) SR Al

) T=—di® <ig wRiy

() freafere™ sgeE M
@ g |l

o= 3 B wireT 98 v 9 Aa A8
HRN?

Q) uERrRE g — 5865,

(2 TRFET Od — 5805

(3) W Mefe G — 776 3.4,
@ s e - 57389,
Jgetar 3+ HEaT § —

1) 35 54

@) W ds

) GEEe U

@ <= i

TpIES & —

(1 9 S G99 BiCT 956
(2) uREmer & Aeud sEr

) R & 99y 93T TH

@) SWE A Big TE

wie o Ol = o f5e 9 ¥ I ST
&7

(1) Interval Method Q) .= o

(2) Repetition Method 2 gk fafr

(3) Fartlek Method (3) wcas R

(4) All of the above @ SR
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~

84. Match the following -

84.

Prfead @ g B —

(@  General (i)  Scholarship D A O  ©EEhkt
Record register I L] Iy
(II) Educational (ii) Leave (i St (i) oEHE
Record register e ey
(IIT)  Finance (iii) Sports an) R sfem @) o« 9
Record property IRy
register . R
(IV) Maintenance (iv) Admission av) ?@ﬁ—;’@ﬁ ) =
Record register
PP O @ o @
@O @@ @ Gv) @@ . . .
2w @ o 2o o o
B oW @ ™ @ O 6
@ Gv) @) @ @ G)
85. Three statements are given — 85. U ®eN Ry v € —
Statement-I Immovable joint also FeF-1  IEa WY B AP
called Synarthrosis joint. df +ft s Fi
Statement-II  Amphiarthrosis is a Foe-TI  TemiRe, SulRewy @
cartilaginous joint. B B
Statement-IIl  Synovial joint is B0 EAngde i, seenuii
- Diarthrosis joint. Wi 8T 21
Choose the correct option - e faee g —
(1) StatementI and I are correct (1) o9 o= 19 Mud) &
(2) Statement I and II are correct (2 Pad FUTI T I 98 §
(3) Statement IT and IIT are correct (3) oo FUF I 9 I §8) §
(4) All statements are correct @) f 9= Tl €
86. What is a dynamometer used for? 86. SIEHMIET & ST fae forg gem &7
(1) Measurement to heart capacity (1) TSI B AP B A9
(2) Measurement to flexibility (2) oIElus Bl 79
(3) Measurement back and leg strength 3) Wo g RN 9 arwa & [
(4) measurement to endurance @ wEaear & AN
87. Which type of school record is service book? ~ 87. Wfiw gwi® by WeR &1 fuew afew
g 87
(1) FPinance (n f=
(2) Correspondence 2 TWER
(3) General 3) EERY
(4) Educational @ 3t
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88. The steps in constructing a budget are - 88.

I  Collecting the necessary information.
II  Classifying the information.
Il Presenting and adopting the budget.

Choose the correct option -
(1) Only step II and I1T are correct
(2) Only step I and I1I are correct
(3) Only step I and I are correct
(4) All steps are correct

89. Demonstration, an aspect of command method ~ 89.
is known as -
(1) learning speed
(2) show-off potential
(3) precision and directness
(4) eyeto eye contact

90. Which one is not the major objective of 90.
extramural competitions?

(1) Providing optimal opportunity to
greater number of students for
acquiring the skill and art of organising
and administering.

(2) To bring laurels to the institution by
registering victory.

(3) To develop brotherkood and friendship
among participating institutions.

(4) To encourage social interaction among
the teams.

91. “Personality is the sum total of the actual or 91.
potential behaviour patterns of the organism” is
stated by -
(1) Egysenck
(2) Allport
(3) Morton Prince
(4) Watson

92. When will be the first time Youth Olympic 92.
Games were organised in Africa?
(1) 2024
2) 2026
(3 2028
@) 2030

goie i & oN 59 PR © -

I NOEd o BiHd S|

O I & aeor el |

Ml S & UKgd U9 Y80 el

el fde gAY —

(1) Paa TR O 7 10 981 ©

(2) oad =xo 1 T Il §el §

(3) S WU 1T I &

(4) GEE T GE §

yeu, aifew Al & & usqg & w9 & &

T § —

(1) A @ i

2 e earn

(3) wdwar iR qoer

@ offg 3 sitg farr

P rafdenerd] yRENRT B 5

e TE 77

1) % 9§ I der § et ot
ARG T4 TR © BIYd 9 Hell
P W B D foU SaH ATER
e B |

(2) ST oS BN W] B AW A_A
BT

(3) wiwrlt demlil & A9 dYd g
e foslfia T

@ <D T GAEING TEREE 3
Oreifed &Yl

“fded oiig & drKifq® a1 GHIfda TaER

& uREE 1 TE B a9 s s 2l

g T=F & —

1) e

(2) st

(3) ¥fics filw

@ e

FPIsT § TRl IR YU AT € o4

i 8Rre

L 2024

(2) 2026

(3) 2028

@) 2030

21- © Page 20 of 32




93.

94.

95.

96.

97.

Which opne is not the disconnection about
Physical Education?
(1) Itis about building body.
(2) Ithaslot of job opportunity.
(3) Wastage of money only.
(4) It is only about the participation in
games.

By which method the upper and lower part of
the muscles are touched due to which blood
circulation increases?

(I) Hand care manipulation method

(2) Effleurage manipulation method

(3) Pressure manipulation method

(4) Both (1)and (2)

Theory of Psycho-analysis was given by -
(1) John Dewey
(2) Sigmund Freud
(3) William McDougall
(4) Lord Kames

Two statements are given —

Statement-I  If the Goalkeeper throw
the ball directly into the
opponent’s goal, a goal is
awarded.

Statement-II A goal cannot be scored

directly from a throw-in.
Choose the correct option —
(1) Only statement I is correct
(2) Only statement II is correct
(3) Both the statements are correct

(4) Both the statements are incorrect

Which part of the foot is involve in push pass?

(1) Fullinstep

(2) Inside of the instep
(3) Inside of the foot

(4) Outside of the instep

93.

94.

95.

96.

97.

Sl TRIRT R & IR ¥ gt =8 87

(1) I8 RN FHiT 9 defa 21

(2) IE 957 9N AW D IAER Al
31

(3) 3ad 99 B ST |

@) IE DI Wal A AT o9 W HaRd
21

D W O g A @ o0l 9 e

AN B Al oAl &, Y ved dEr

T 87

(1) oo 3 s—oEd A

2 DRy sw—-oEd A

(3) <@ P TSI A

@ (O)vE Q) =+

T Rgia & mar —

Q) <iF SEr

) Rrrs vrs

3 ffem fesie

@ i€ o

¥ Fe ey g € —

F-1I IR MR A9 AT @

ol & Ma § off o= @
B, o1 e e wRe |

937 F BRI W e Th
s < g@ar|

Tl faFeT gig —

(1) a9 FATI TR

() o9 FE 0 988

3 < B wE g

@ < FeE o §

g9 U § IR @1 D 9w g
8?

(1) G 7

(2 SI9ES A% T Ry

() wTIES 3% T He

4) 3NSTHES F T FTRY

HUTII
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98.

99.

100.

101.

102.

Two statements are given —

Statement-I Any material applied
externally on the socks
must be the same colour of
socks.

Undershorts can be of
different colour from the
shorts.

Choose the correct option —

Statement-II

(1) Both the statements are incorrect
(2) Both the statements are correct
(3) Only statement IT is correct
(4) Only statement I is correct
Number of Vice Presidents in FIFA Council -
(1) 06
) 08
3 10
4 04

All lines must be of the same width, which
must not be more than -

1 8cm

2) 5cm

3 12cm

4 10cm

‘Which line divide field of play into two halves?

(1) Center line

(2) Halfway line

(3) Intermediate line
(4) Crossline

Which one is the first football club in South
India?

(1) R.B. Ferguson Football Club

(2) Dempo Club

(3) Salgaonkar Club

(4) Sovabazar Club

98.

99.

100.

101,

102.

T BF oy g € —

A1 TSl W 9 | o T B A
' Tanf /A AT @ 6T @
& B! Aey |

JewEiidy, dicw & W 9
=1 8 a9 T

Wl s gy —

1) </ FF Tod 8

(2) <F HUF GEl §

(3) @ad U I I8 &

@) DA FEITHE

HiwT gReg H Surgal @7 e —

1 06

(2) 08

3) 10

@ 04

I 3OV e X @l s =Ry —

1 8|

2 53

3) 129#

@ 109

B T WA P A5 B 3| A
formfera welt 87

(1) <X AR

() - T

() IRt wg

@ B g

SR ART BT YW Gedldd qad DI 8?

-1

IR TR Fedia Iae
SHI T

GIANdH? Fold

RICIEISIRCEES

@
@
&)
@
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103. A football player’s head collides with goal post 103, T& Gedia Raarel & RR 7 dRe |
and a fracture found in skull, which type of THIAr B 3N Gt § Rerd T grm wirar
fracture it is? 2, U8 9 usR o7 3R 87

(1) Comminuted fracture (1) frafsa siRerdT
(2) Transverse fracture @) s atfemiaT
(3) Depressed fracture (@) Rire sReniT
(4) Oblique fracture @ et e

104. In which languages the IFAB publishes the 104. IFAB €& & @ fbw wmml § ueikE

Law of the Game? BT B
(1) English, French, Portuguese, Italian (1) <R, wY, g, st
(2) English, French, German, Spanish () 3l wa, e, |
(3) English, Italian, German, Spanish &) il serfems, e, A
(4) English, Portuguese, Spanish, Italian @ s, W |, selRr

105. Which is the only country to qualify for all 21 105. Wl fIvamy & T 21 GR6E0T & forg sEar

editions of the FIFA World Cup? IS R dTell U@ATT A Bl 87
(1) Germany (1) S
(2) Brazil (2) smeid
(3) Argentina @) A
(4) England @ e
106. In RICE method, E stands for - 106. RICE fafy 4, E & ared —
(1) Energy @ TSl
(2) Elevation 2 cfodes
(3 Emergency (3) TE
(4) Evaluation @ S—QRE-Q-H
107. When was Santosh Trophy started? 107. EAIY TIH! HE TR §52
1) 1939 ) 1939
(2) 1941 (2) 1941
(3) 1943 (3) 1943
@) 1945 4) 1945
108. How many members are in FIFA Council? 108. SHT gRug # fHoe 9w 8K 87
a1 37 @ 37
@ 35 2 35
3) 33 @3) 33
@ 38 @ 38
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109. What is the measurement of wooden blocks 109.
which is used in JCR Test?
@O 1"xi1"x2"
(2) 1.5"x1.5"x3"
3) 2.5"x2.5"x4"
@) 2"x2"x4"
110. Break in the continuity of bone is called - 110.
(1) Strain
(2) Sprain
(3) Dislocation
(4) Fracture

111. 'What must be the circumference of ball? 111.
(1) 24-25inch
(2) 26-27inch
(3 27-28inch
(4) 28-29inch

112. Which of the following is Dismissal Card? 112,
(I) Redcard
(2) Yellow card
(3) Black card
(4) Green card

113. Which ligament of knee is affected when the 113.
tibia is externally rotated and the knee is in a
valgus position?

(1) ACL
2) MCL
3 PCL
4 LCL

114. What is the current ranking of Indian Women’s 114.
Football Team?
1) 58
2) 56
3) 49
4) 63

S v § 9w # ol W A
TEE B B Bl FAT AT Bl 67

D 1"x1x2"

(2 1.5"x1.5"x3"

(3) 2.5"x2.5"x4"

@) 2"x2"x4"
R & Fvavar § T Bl § —

(1) Ra=ig

@) ==

(3) siRer fawmu=

@) sifResT
i & IR T S Tfey?

(1) 24-25%4

(2) 26-27%4

(3) 27-28%7

4 28-29%9
e 3 @ B sEEE B 87

O o T

2) Wer wTS

(3) ol IS

@ =TT
i fefRar o s} B R gEEn o
3% e Jorw Refy # 8/ 8, @t g &
Pirar AReeE wailda ST 87

1 W

(2) AT

3) WA

@ vaHd
IR ARl Bedla S P qAAR AT
T B?

1 58

() 56

3) 49

@ 63
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115. Number of matches won by Rajasthan in 115. <ai¥ S 2022 ¥ VW gNT S ¢

Santosh Trophy 2022 - =i P " —
@ 3 @D 3
@ 2 @ 2
@ 1 @ 1
@ ¢ @ o
116. Which three trophies were received by First 116. ¥ $¥s &U Aol gRT SR OF Sl
Durand Cup winner? TET B T <5
(1) Durand Cup, Calcutta Trophy and (1) SIS B, Bepal oo AR T
Chairman Cup B
(2) Durand Cup, Shimla Trophy and @ s P, R o Adr e
President Cup &7
&) Dura.md Cup, Shimla Trophy and @ s T, R o B —
Chairman Cup . .
(4) Durand Cup, Calcutta Trophy and @) T U Pewa S AR
President Cup ha
117. What is the measurement of kickboard in 117. #FelIes HiHR Proct WET ¥ fHopdls Hi
McDonald Soccer Skill Test? A9 g1 BT 87
(1) 1128 feet (1) 11x28Wk
(2) 11.5x30 feet 2) 115x30®E
(3) 12x32 feet (® 12x32%E
@) 12.5x34 feet @4 125x34%E
118. Two statements are given — 118. < P fog W g —
Statement-I ~ The two longer boundary FE-1 T AR WFT YT €9 wiE
lines are touch lines. g §1
Statement-I  The two shorter boundary FE-II < B 9 Y Us died
lines are end lines. Bl €1
Choose the correct option — W&l fdwen g —
(1) Only statement I is correct 1 FEIESR
(2) Only statement IT is correct 2 T IO S
(3) Both the statements are correct (3) < we ) F
(4) Both the statements are incorrect @ < T T &
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119.
1)
)
@3)
@)
120.

In which year IFAB was founded?

‘Who is known as the father of Indian Football?

119.
1839
1887
1886
1888

(1) G.D. Sondhi
(2) Dorabji Tata

3

Nagendra Prasad Sarbadhikari

(4) P.K. Banerjee

121.

How many times Brazil won the FIFA World

‘Cup title?
(1) Five

@

Six

(3) Four
4) Seven

122.

Statement-I1

Statement-II1

Three statements are given —
Statement-I

122,
The Referee must have

whistle, watch, red and
yellow card & note book.
Video Assistant Referee
works as the other match
official.

Team: that wins the toss
must decides which goal
to attack in the first half,

Choose the correct option -

Y
)
3
@)

123. The Law 2022-23 is effective from -

1)
)
3
@

Only statement I is correct

Only statements I and III are correct
Only statements II and IH are correct
Only statements I and IT are correct

123,
1% July, 2022

1% January, 2022

1% March, 2022

1% June, 2022

120.

121.

IFAB &9 a9 =it ger?

(1) 1889

(2) 1887

(3) 1886

(4) 1888

YRAN Godlal & 96 BIF A @I 87

(1) <0 <. 9l

(2) <RESH TRl

(@ TR wwIE AR

@ W% Tl

A A feae 9% BieT fazaey Hids ofar

&

(1 dE=

2

3 =IR

@ =

I P 198 Y € —

-1 X0 B U 9, 5, e
7 e B 3iR A g% B
weg |

FIII Qe aiRme< YH9 I
T folkhe & w7 § o
e T

HUG-II & &¥ €9 ofiadl & @8
TS B9 Y ol e
5, fow N § wow &% §
BT BT &

el fawer gy —

(1) ad & I 9er &

2 DI FE 1T 9 &
(3) Paa HaE I 9 I & &
@) IIAFEITI TS E
Frm 2022-23 wamdl & —

(1) 1 o, 2022

(2) 1 9=, 2022

(3) 1 g, 2022

4) 1 9, 2022

21- P

Page 26 of 32




124. A player is in an offside position, if - 124. o Raare! sifpass @ fRerfg § 8, 9t —
(1) Any part of the body is nearer to the Q) T & BE AT g &R fFdw
opponent’s goal line than both the ball sifas fouel &7 emer Al 95 7
& the second last opponent. AT & Ifds 99T B
(2) Any part of the body, head, hand or 2 = R ¥R ar R 31 B AR
feet is nearer to the opponent’s goal i 3k Bdy ifRe Rl @ sk
line than both the ball & the second last e & M s @ ST §a
&)] ﬁgro::g.of the head, body or feet is gl - .
nearer to the o onen;’s oal line than @ RR, 3R 7 R o1 g Wi g <
both the ball: & the e sifer famelt @ e ¥ fvel
0 e ball & the second last
opponent. B e AT B oD T |
(4) Any part of the body and feet is nearer @ TR H_ W 1 P AT ﬂ?‘r S
to the opponent’s goal line than both feli <iftm famed ¥ orden # el
the ball & the second last opponent. B S ST B D T E |
125. Who scored most goals in a single FIFA World  125. & ®IBT {J9a®y # |qiE® e PR el
Cup? P F?
(1) Miroslav Klose @O Riwme s
(2) DiegoMaradona ) I SR
(3) Just Fontaine 3) % BicH
(4) Zinedine Zidane @ e fem
126. Which of the following test item is used in SAT 126. ¥I$ Hedid Brad T& A 711 § & S
Football Skill Test? TR g SART # e wmar 87
(1) Dribbling (1) fgfeer
(2) Volleying ) difefT
(3) Juggling (3 wrfeT
(4) Heading @ R
127. If 15 teams are playing with II method of 127. Ii¥ 15 <R wicT FREIRTET & gEvr oy
Consolation Tournament, how many matches ¥ wq e & o yioalar o Bl A= B
will be played in the tournament? e fea+r grFfi?
1 27 () 27
@ 28 @ 28
3 29 3 29
@ 30 @ 30
128. Two statements are given — 128. Y HI9 fag @ € —
StatementI- AAHPER youth physical o I- AAHPER g IRIRG ar
fitness test was developed Teor die ghaex BN
by Paul Hunsicker. BRI ?ﬂn T il 3
Statement II - F:litially in t.hisltzs:dsix test P I - Wg oS wg}f ﬁ;q:[ e W‘ | °
items were included.
Choose the correct option — ﬂj; Wﬁ_l o g
(1) Only statement I is correct .
(2) Both the statements are correct @ ﬁ P W &
(3) Both the staternents are incorrect (3) Tl PeE e §
(4) Only statement II is correct @) @94 B OH ©
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129. Who was the top scorer of current Santosh 129. TAAN HAIY TIH! BT Hared I DI A7
Trophy?
(1) Sudheer Kotikela 1) TR PiRkdar
(2) Amarpreet Singh (2) swia Rig
(3) Jesin TK Thonikkara (3) <iRF A%, afFer
(4) Chandra Muduli @ == ggen
130. When first edition of Hero Gold Cup was 130. BRI viics $Y BT GIH GO He AT
organised? o7
1 2019 (1) 2019
@ 2018 @ 2018
3) 2017 3 2017
@ 2016 4) 2016
131. Weight of ball must be in between - 131. i @I 999 S99 = B Ty —
(1) 3%g-453g (1) 396 UL.—453 L.
(2) 410g-450g (2) 4107T.-450 7.
(3) 400g-500g (3) 400 7T.- 500 7.
4) 415g-460g 4) 4157r.-460 11
132, The number of test iterns in the “Warner Test” 132, WiaN BiUd & "R GEor” § gegail @t
of soccer skill are - & § —
(1) three ® o=
() five @ d=
(3) seven @) |
(4) nine @ =
133. Two statements are given — 133. < woe fau v € —
Statement-I  Goal line technology is L1 | el ST A1 BT SUANT
only used to determine d9d I8 g o & R
whether a goal has been BT ¥ 5 el W 5ol B
scored. -l ¥F 3 AW W AR
Statement-II  Limited commercial .
L . ¥ waie fRema @
advertising is permitted on
the field of play. gt et 81
Choose the correct option — el faden gy —
(1) Both the statements are correct ) =P e E
(2) Both the statements are incorrect (2 TFi FUE T
(3) Only statement I is correct (3) oad wE 198N B
(4) Only statement IT is correct @) o9 FUF N FE 8
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134. The edition of Durand Cup 2022 is ~ 134. IS Y 2022 BT GWET B?
@ 131¢ @O 1314
(2) 128" () 1284
(3) 125" (3) 125af
@ 133 @ 133af
135. Which one of the following is not a 135. % # } S AL VELHL. BT T Fiafer
representative of IFAB? Tél 87
(1) England Football Association (1) gwive Fedia g
(2) Football Association of Wales 2 I8 Hedid e
(3) French Football Federation (3) ™ gedia PewEH
@ FIFA 4) I
136. Which is the India’s biggest football stadium 136. &¥QT ® IR W, AR BT TG g Fearad
by capacity? wiewT Biewm 87
(1) Saltlake Stadium (1) dieces wfeam
(2) Kaloor Stadium (2) & wiEag
(3) EMS Stadium () =yEvE RRe
(4) Birsa Munda Football Stadium @) R Hger pedla wfemm
137. If27 teams are in single knock out tournament, 137. 3f% 27 ¥ ywa Al siee ufoafiear # €,
how many teams get place in first half? ar foaet <9 v o W RIE W eRdl
g7
@ 12 1 12
2) 13 2) 13
@ 14 3 14
@ 15 @ 15
138. How many Asian countries qualified for FIFA 138. ®IwT fdwa @y, 2022 % fog faosir oRrg
World Cup, 20222 S 7 Ial W @Y 87
@ 5 @ s
@ 4 2 4
@ 6 @ 6
@ 3 4 3
139. Which is the 9% Law of Game? 139. & &1 94 R P &7
(1) The duration of the match 1) TP e
(2) The ball in and out of play (2) 5 & B P I T AN S
(3) Determining the outcome of a match 3) 79 = sRum FaiRa s
(4) Offside (4) diiwass
140. What is the length of touch line in International 140, I<WIST ¥4 # €T AR & oIS T
Matches? Biil 87
(1) 110m-120m () 1107 — 1209
(2) 100m-110m (2) 1004. -1104
(3 9% m-100m 3) 90 - 1004
@ 95 m-105m @) 95%. —1054.
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141. Match the followings - 141. fr=falea of gia Sy —
(O 600 yard i  Agility IO 600 i) AqAdm
run/walk SPACIT]
(I)  Standing (i) Muscular am wfETdle @) WHUEE
broad jump strength and g i g
endurance L EREIGG
() Shuttlerun  (iii) Explosive ) 3ed A (i) fowpies @
strength of Ieg =)
(IV) Bentknee  (iv) Cardiovascular av) s e @Gv) Togaies
sit ups endurance g FeTeiiedr
1 1] I [\Y 1 I I v
» i iii iv ii ) i jii iv ii
) iv iii 1 ii 2 v fii i ii
@ i i i iv 3 i ii i iv
@ i iv i i @ i iv iii i
142. What was the validity coefficient of the 142, JPeFics WER DT TUET S JEc
McDonald Soccer Skill Test? 'g;unis T oT?
(1) 0.63-0.78 1) 063-0.78
(2) 0.63-0383 (2) 0.63-0.83
(3) 0.63-091 (3) 0.63-091
4 0.63-094 4 0.63-094
143. What will be the radius of center circle? 143. o= ga o Brear @ Bl 8?
(1 11 meter @) 119RX
(2) 10 meter 2) 10¥=
(3) 9.15 meter 3) 9.15¥eN
(4) 9.00 meter (4) 9.009RR
144. If 13 teams are participating in Single League 144. X o o1 wimiffer o 13 &8 wmr @
Tournament & cyclic method used for fixture, @ ¥ IRk e & fag o ﬁ'f@( Eill
how many byes will be given each round? ST B 8 R, A e w9 7 oo
o€ & SRef?
03 @ 03
(2) o1 @ o1
3 02 3) 02
4 04 @ 04
145. Who became the 27% recipient of Arjuna 145. WK Gedia A I odE WK SO del
Award in Indian Football? 273 Raarst ST 17
(1) Sukhwinder Singh @ g@ﬁa-\r RiE
(2) Sunil Chhetri @ g o
(3) Subhasish Bose @) g
(4 Sandesh Jhingan @ <= B
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146. Which is the first Non-British team to win the 146. W8l 9% fftw & Bl & R g¥s au
Durand Cup? Sirr?
(1) Mohan Bagan (1) HET I
(2) Mohammedan Sporting () dAEFET WifieT
(3) East Bengal B3 I I
@) Sovabazar Club @) VOIENR T
147. Height of comer flags is - 147. 3R & 9is &I Hals sl & —
(1) not less than 4 feet 1) 49 J F9 T
(2) notless than 5 feet 2 5%ic § ®H 98!
(3) not less than 6 feet (3) 6% ¥ 9 &
(4) not less than 7 feet @ 7% q 9 T8
148. Which one of the following will be one of the 148. =1 ¥ ¥ @ Bw fawg @9, 2026 &
host city for FIFA World Cup, 20262 ITE W H W U@ 77
(1) Alberta 1) 3wl
(2) Yukon ® gzﬁ:[
(3) Ontario @) siichRar
(4) Kansas city @ o RS
149. Who among the following acts as a timekeeper 149. GEdid A9 i SRABIN @ WY § F=friRad
in a Football Match? 4 ¥ P P DA 87
(1) Referee L B
(2) Assistant Referee (2) IRE YH
(3) Linesman (3) =i
(4) Recorder @ Reis
150. The predominant system of positioning and 150, Wedia ¥ # Y NI SUANT H W9 Gl
division of responsibility used by Football el &1 Rufd eiiv ffaem & mqa
match referee is called - WUTTell BT Hel Il & —
(1) Diagonal system of control Q) sENEe R sife aﬁﬁa
(2) Direct system of control 2 sERee Ried e s
(3) Dominating system of control (3) SFFRET R i F2ig
(4) Democratic system of control @) IBRT R it s
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